
१ ;Ktwf/f /fokfnL–/fdkfgL ;8s dWog]kfn g=kf=! ५००००० kfFr nfv

२ ;Ktwf/f e';fnyf]s tfNn] uf}nL 

ufFp x'b} efuL/yL ;8s
dWog]kfn g=kf=! ५००००० kfFr nfv

३ 8'd|] b]p/fnL e';fnyf]s ;Ktwf/f 

;8s
dWog]kfn g=kf=! ५००००० kfFr nfv

४ ;'wf/] e';fnyf]s tfNn] elu/yL 

;8s
dWog]kfn g=kf=! ५००००० kfFr nfv

५ ;fpg]kfgL xl6of ;Ktwf/f 

df=lj=;Dd ;8s dd{t
dWog]kfn g=kf=! ५००००० kfFr nfv

६ v/n] af6 k/fh'nL ufFp hfd'g] 

cfdf ;d"x ejg
dWog]kfn g=kf=! १००००० Ps nfv

७ uf8f kfgL 8fF8fyf]s Eo" 6fj/;Dd 

af6f] :t/f]GgtL
dWog]kfn g=kf=! १००००० Ps nfv

८ ljld/] e~Hofª\u–lwtfn ufFp df]6/ 

af6f]
dWog]kfn g=kf=! २००००० b'O{ nfv

९ ls/fsf] vf]/af6 9n]sf] a/sf] 

?v;Dd af6f] lgdf{0f
dWog]kfn g=kf=! १००००० Ps nfv

१० wtL{ vf]nf gf/grf]s ;8s dWog]kfn g=kf=! १००००० Ps nfv

११ dxfb]j df]7–lslt{k'/ ;8s dWog]kfn g=kf=! १००००० Ps nfv

१२ cfFkrf}/–l;vf ;8s dd{t dWog]kfn g=kf=! १००००० Ps nfv

१३ lhtfsf]6 xf]d:6] tyf hghflt 

sfo{qmd
dWog]kfn g=kf=! ३००००० tLg nfv

१४ e'h]n ;fd'bflos ejg dWog]kfn g=kf=! ४००००० rf/ nfv

१५ /fS;] b]jL dlGb/ 6«:6 lgdf{0f dWog]kfn g=kf=! ४००००० rf/ nfv

१६ km"naf/L cfdf ;d"x -lr08] ufFp_ dWog]kfn g=kf=! २००००० b'O{ nfv

१७ h'gtf/f cfdf ;d"x dWog]kfn g=kf=! २००००० b'O{ nfv

१८ lr08] ufFp vfg]kfgL dWog]kfn g=kf=! ४००००० rf/ nfv

१९ tfKn]] vfg]kfgL dWog]kfn g=kf=! १००००० Ps nfv

२० ;"o{ Hof]tL df=lj= sDkfp08 lgdf{0f dWog]kfn g=kf=! १००००० Ps nfv

२१ ;Ktwf/f df=lj=sf] ejg 9nfg dWog]kfn g=kf=! १००००० Ps nfv

२२ blnt ejg -;a}_ dWog]kfn g=kf=! ३००००० tLg nfv

२३ ;Dk"0f{ l;+rfO{ dd{t dWog]kfn g=kf=! ३००००० tLg nfv

२४ ;Ktwf/f dxfb]j dlGb/ dWog]kfn g=kf=! २००००० b'O{ nfv

२५ ;Ktwf/f rkL{ lgdf{0f dWog]kfn g=kf=! २००००० b'O{ nfv

२६ lhtfa]zL b'w]Zj/ dxfb]j dlGb/ dWog]kfn g=kf=! २००००० b'O{ nfv

२७ lhtfsf]6 3/ lgdf{0f dWog]kfn g=kf=! १००००० Ps nfv

२८ /fOkfnL s[lif ;+sng s]Gb| dWog]kfn g=kf=! ४००००० rf/ nfv

२९ lhtfj]zL Pstf cfdf ;d"x dWog]kfn g=kf=! २००००० b'O{ nfv

३० /fokfgL vfg]kfgL nufot ;Dk"0f{ 

vfg]kfgL dd{t
dWog]kfn g=kf=! ४००००० rf/ nfv

३१ lhtfsf]6 v]nd}bfg dWog]kfn g=kf=! १००००० Ps nfv

३२ lr08] ufFp v]nd}bfg dWog]kfn g=kf=! १००००० Ps nfv

मध्यनेपाऱ नगरपालऱका
मध्यनेपाऱ नगर काययपालऱकाको कायायऱय, भोऱेटार, ऱमजुङ
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३३ ;jf{GfGb k|f=lj= af6 d'Vof6f]n x'b}F 

3tL{ ufFp hfg] df]6/ af6f] 
dWog]kfn g=kf=! १००००० Ps nfv

३४ j8f sfof{no tf/af/ dWog]kfn g=kf=! १००००० Ps nfv

३५ lhtfsf]6f ;fNd]8fF8f zxLb kfs{ dWog]kfn g=kf=! १००००० Ps nfv

३६ ;fnaf]6] s'nf] lhtf–6S;f/ l;dfgf dWog]kfn g=kf=! २००००० b'O{ nfv

३७ ;f]tLk;n–hfNkfb]jL–kf08] ufFp 

df]6/ af6f]
dWog]kfn g=kf=@ २५००००० kRrL; 

nfv

३८ tfdfvfgL–lhtf df]6/ af6f] dWog]kfn g=kf=@ ५००००० kfFr nfv

३९ kfv'/Lrf]s gd'gf blnt a:tL 

sfo{qmd
dWog]kfn g=kf=@ ५००००० kfFr nfv

४० vfg]kfgL ;Dk"0f{ -HfNkfb]jL_ dWog]kfn g=kf=@ ३००००० tLg nfv

४१ c;Ld'/] kf}8]n l8xL df]6/ af6f] dWog]kfn g=kf=@ २००००० b'O{ nfv

४२ ;f]tLk;n u0f]z dlGb/ lgdf{0f dWog]kfn g=kf=@ ४००००० rf/ nfv

४३ af]lª\u rf]s cfdf ;d"x dWog]kfn g=kf=@ २००००० b'O{ nfv

४४ 7s'/L ;dfh ejg lgdf{0f dWog]kfn g=kf=@ ३००००० tLg nfv

४५ k|x/L rf}sL k|ltIffno lgdf{0f dWog]kfn g=kf=@ १००००० Ps nfv

४६ k/fh'nL6f/ l;+rfO{ of]hgf dWog]kfn g=kf=@ २००००० b'O{ nfv

४७ ;f]tLk;n ;+/If0f dWog]kfn g=kf=@ ५००००० kfFr nfv

४८ td' ;dfh ejg dWog]kfn g=kf=@ २००००० b'O{ nfv

४९ af}4 u'Daf dWog]kfn g=kf=@ २००००० b'O{ nfv

५० kf08] ufFp dlGb/ lgdf{0f dWog]kfn g=kf=@ २००००० b'O{ nfv

५१ 7"nf] :jfF/f–vx/] vf]nf df]6/ af6f] dWog]kfn g=kf=@ १००००० Ps nfv

५२ hfNkfb]jL k}bn dfu{ lgdf{0f dWog]kfn g=kf=@ १००००० Ps nfv

५३ k|ultlzn cfdf ;d"x ejg 6«:6 

lgdf{0f
dWog]kfn g=kf=@ २००००० b'O{ nfv

५४ pGgt lap ljhg ljt/0f sfo{qmd dWog]kfn g=kf= @ २००००० b'O{ nfv

५५ ;Dk"0f{ ljBfnosf z}lIfs ;fdfu|L 

vl/b tyf dd{t
dWog]kfn g=kf= @ ३००००० tLg nfv

५६ :jf:Yo rf}sL tyf ;fd'bflos 

cWoog s]Gb| Joj:yfkg
dWog]kfn g=kf= @ २००००० b'O{ nfv

५७ /ftdf6f tyf dfy/f 3}6] kfgL dd{t dWog]kfn g=kf= @ २००००० b'O{ nfv

५८ dlxnf Ifdtf clea[l4 tyf dft[ 

lzz' :ofxf/ sfo{qmd
dWog]kfn g=kf= @ २००००० b'O{ nfv

५९ ;Dk"0f{ zfvf df]6/af6f] dd{t dWog]kfn g=kf= @ ३००००० tLg nfv

६० cfdf ;d"xsf] ejg tyf zf}rfno 

lgdf{0f
dWog]kfn g=kf= @ ३००००० tLg nfv

६१ o'jf Snj ejg tyf zf}rfno 

lgdf{0f / kmlg{r/ vl/b
dWog]kfn g=kf= @ ३००००० tLg nfv

६२ bzgfdL ejg lgdf{0f dWog]kfn g=kf= @ २००००० b'O{ nfv

६३ j8f g+= @ j8f sfof{no af6f] dd{t 

/ kmlg{r/ vl/b
dWog]kfn g=kf= @ ३००००० tLg nfv
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६४ /fwf s[i0f dlGb/ ;f]tLk;n h:tf 

5fgf] 5fpg
dWog]kfn g=kf= @ १००००० Ps nfv

६५ gfue}/j df]6/ af6f] dWog]kfn g=kf=# १०००००० bz nfv

६६ kf}8]n l8xL c;Ld'/] df]6/ af6f] dWog]kfn g=kf=# ३००००० tLg nfv

६७ Hofld/] vf]nf df]6/ af6f] dWog]kfn g=kf=# २००००० b'O{ nfv

६८ dWodfu{ df]6/ af6f] dWog]kfn g=kf=# ५००००० kfFr nfv

६९ gd'gf :yfg SofDk; x'b}–rbL{ df]6/ 

af6f]
dWog]kfn g=kf=# ७००००० ;ft nfv

७० d+unf SofDk; tnfdf jfn lgdf{0f dWog]kfn g=kf=# ४००००० rf/ nfv

७१ d+unf df=lj= ;efxn lgdf{0f dWog]kfn g=kf=# ४००००० rf/ nfv

७२ g]jf/ ;fd'bflos ejg dWog]kfn g=kf=# २००००० b'O{ nfv

७३ :jf:Yo rf}sL hfg] df]6/ af6f] dWog]kfn g=kf=# २००००० b'O{ nfv

७४ jf8 sfof{no sDkfp08 dWog]kfn g=kf=# २००००० b'O{ nfv

७५ If]qL ;dfh ejg dWog]kfn g=kf=# २००००० b'O{ nfv

७६ /fdjfnf]bo ljBfno sDkfp08 dWog]kfn g=kf=# २००००० b'O{ nfv

७७ t6aGwg dWog]kfn g=kf=# ३००००० tLg nfv

७८ ;r]Tfgf s]Gb| ejg lgdf{0f dWog]kfn g=kf=# २००००० b'O{ nfv

७९ a;f}nf l8xL–Jof/]l8xL–c:ktfn 

aGg] hUuf ;Ddsf] dfu{ lgdf{0f
dWog]kfn g=kf= # २००००० b'O{ nfv

८० e§/fO{ u}}/f–d+unf SofDk;–:s'n6f/ 

hf]8\g] df]6/af6f] :t/f]GgtL 
dWog]kfn g=kf= # ४००००० rf/ nfv

८१ ;+:s[tL hu]gf{ sfo{qmd-u'?ª / 

g]jf/L_
dWog]kfn g=kf= # १००००० Ps nfv

८२
HofdL/]af6 d'8'n] rf}tf/f] eof/ 

:yfg x'Fb} nfdfrf}/ :s'n;Dd 

df]6/af6f] lgdf{0f

dWog]kfn g=kf= # १००००० Ps nfv

८३ t/sf/L v]tL sfo{qmd dWog]kfn g=kf= # २००००० b'O{ nfv

८४ dWodfu{ zfvfaf6 cfu] x'b}F j8f 

sfof{no hf]8\g] df]6/af6f]
dWog]kfn g=kf= # २००००० b'O{ nfv

८५ hfd'g] b]p/fnL df]6/af6f] :t/f]GgtL dWog]kfn g=kf= # २००००० b'O{ nfv

८६ ;dLsf]af]6 af6 8'd|Lkm]b ;Dd 

df]6/af6f] dd{t
dWog]kfn g=kf= # १००००० Ps nfv

८७ d}bfgaf6 rgf}6] hfg] df]6/af6f] 

lgdf{0f
dWog]kfn g=kf= # ३००००० tLg nfv

८८ ;'o{kfn :jf:Yorf}sL dd{t dWog]kfn g=kf= # ३००००० tLg nfv

८९ blnt ;r]tgf s]Gb| ejg lgdf{0f   -

uf]vf{nL:yfg_
dWog]kfn g=kf= # २००००० b'O{ nfv

९० j8f sfof{no kmlg{r/ vl/b dWog]kfn g=kf= # १००००० Ps nfv

९१ afnaflnsf Ifdtf clea[l4 dWog]kfn g=kf= # ५०००० krf; xhf/
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९२ >Ls[i0f cfdf ;d'x ejg dd{t dWog]kfn g=kf= # ५०००० krf; xhf/

९३ e}/jsfnL df=lj=;6/ lgdf{0f dWog]kfn g=kf=$ ५००००० kfFr nfv

९४ /D3f v]nd}bfg dWog]kfn g=kf=$ ५००००० kfFr nfv

९५ /D3f td' ;dfh u'Daf lgdf{0f dWog]kfn g=kf=$ ४००००० rf/ nfv

९६ eljio lgdf{0f df]6/ af6f] dWog]kfn g=kf=$ ४००००० rf/ nfv

९७ a}/f7 ;fd'bflos ejg lgdf{0f dWog]kfn g=kf=$ ६००००० 5 nfv

९८ uf}/Lz+s/ dlGb/ ko{6g :yn dWog]kfn g=kf=$ ८००००० cf7 nfv

९९ km"naf/L df]6/af6f] dWog]kfn g=kf=$ ५००००० kfFr nfv

१०० 7"nf] s'dfn ufFp vfg]kfgL dd{t dWog]kfn g=kf=$ ३००००० tLg nfv

१०१ nfdfufFp u'Daf lgdf{0f dWog]kfn g=kf=$ ५००००० kfFr nfv

१०२ /D3f pBf]u jfl0fHo ;+3 ejg dd{t dWog]kfn g=kf=$ ३००००० tLg nfv

१०३ k'ikntf SofDk; z}lIfs Joj:yfkg 

tyf ;'wf/ sfo{qmd
dWog]kfn g=kf=$ ६००००० 5 nfv

१०४ kmgkfs{ bf]k/] rf}/ dWog]kfn g=kf=$ ५००००० kfFr nfv

१०५ dflnsf ljBfno sDkfp08 dWog]kfn g=kf=$ २००००० b'O{ nfv

१०६ af]6] ufFp cfdf ;d"x ejg dWog]kfn g=kf=$ ३००००० tLg nfv

१०७ dfbLa]zL t/sf/L v]tL ljB't 

lj:tf/ sfo{qmd
dWog]kfn g=kf=$ १००००० Ps nfv

१०८ jfUn]kmfF6–6]sg6f/L x'b}F PnLhfsf] 

3/ lg:sg] df]6/ af6f]
dWog]kfn g=kf=$ ५००००० kfFr nfv

१०९ a}/f7 s'nf] dd{t dWog]kfn g=kf=$ २००००० b'O{ nfv

११० dWo lAfGb' Eo" 6fj/ dWog]kfn g=kf=$ २००००० b'O{ nfv

१११ lnrL ljsf; sfo{qmd dWog]kfn g=kf=$ ३००००० tLg nfv

११२ b'O{lkKn] af]6] ufFp hfg] tNnf] ;8s 

gfnL lgdf{0f
dWog]kfn g=kf=$ ५००००० kfFr nfv

११३ l;4L ljgfos ljBfno sDkfp08 dWog]kfn g=kf=$ १००००० Ps nfv

११४ sd{7 dlxnf ;xsf/L Joj:yfkg dWog]kfn g=kf=$ १००००० Ps nfv

११५ ;fO{ afaf dlGb/ lgdf{0f dWog]kfn g=kf=$ १००००० Ps nfv

११६ Joj;foLs ?kdf t/sf/L Joj;fo 

ug]{ s[ifsnfO{ 6g]n lgdf{0f cg'bfg 
dWog]kfn g=kf= $ १००००० Ps nfv

११७ cldnLwf/f vfg]kfgL d'xfg ;+/If0f dWog]kfn g=kf= $ १००००० Ps nfv

११८ bf]kx/] hugk'/ ;8s dd{t dWog]kfn g=kf= $ १००००० Ps nfv

११९

b'O{lkKn] k|x/L lj6b]vL ;fj{hflgs 

zf}rfno x'b}F /D3f EofnL af]l8Ë 

hfg] ;8s u|fe]n / gfnf lgdf{0f   -

cl8b]p dfu{_

dWog]kfn g=kf= $ १००००० Ps nfv

१२० a}/f7 /ftdf6f x'nfsL8f8fF l;v|f 

;8s :t/f]GgtL 
dWog]kfn g=kf= $ १००००० Ps nfv

१२१ kfgL 3§ l8xL kGy6f/ ;8s lgdf{0f dWog]kfn g=kf= $ १००००० Ps nfv

१२२ kfgL 6\ofª\sL ho y'DsL hfg]] uf]/]6f] 

af6f] l;l9 lgdf{0f
dWog]kfn g=kf= $ १००००० Ps nfv

१२३ gx/ clkm; pQ/ tkm{af6 rlb{vf]nf 

;Ddsf] af6f] :t/f]GgtL 
dWog]kfn g=kf= $ १००००० Ps nfv
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१२४ afbL ;d'bfo pTyfg sfo{qmd dWog]kfn g=kf= $ ५०००० krf; xhf/

१२५ ;fgf] s'dfn ufpF cw'/f] ejg 

lgdf{0f ;DkGg
dWog]kfn g=kf= $ २००००० b'O{ nfv

१२६ 7'nf] s'dfn ufFp cw'/f] ejg lgdf{0f 

;DkGg
dWog]kfn g=kf= $ २००००० b'O{ nfv

१२७ gofF l8xL s'nf] dd{t dWog]kfn g=kf= $ ३००००० tLg nfv

१२८ kf8]vf]nf s'dfn6f/Lsf] s'nf] afw 

lgdf{0f
dWog]kfn g=kf= $ १००००० Ps nfv

१२९ blnt l;kd'ns / cfocfh{g 

sfo{qmd
dWog]kfn g=kf= $ २००००० b'O{ nfv

१३० j8f leqsf ;fgf ;8s dd{t dWog]kfn g=kf= $ ४००००० rf/ nfv

१३१ lemlnËf agfpg] d]l;g vl/b dWog]kfn g=kf= $ १५००००
Ps nfv 

krf; 

xhf/

१३२ bf]kx/] l;lnË]8f8fF alhof vs{ 

;8s :t/f]GgtL 
dWog]kfn g=kf= $ १००००० Ps nfv

१३३ hugk'/ kf]v/L ;+/If0f dWog]kfn g=kf= $ ५०००० krf; xhf/

१३४ b'O{lkKn] b]lv ;ldEf~Hofª\u ;"o{kfn 

df]6/ af6f]
dWog]kfn g=kf=% ३०००००० lt; nfv

१३५ nx/] lkkn x'b}F kf]v/Lyf]s gfue}/j 

df]6/ af6f]
dWog]kfn g=kf=% ६००००० 5 nfv

१३६ :jfdLe~Hofª\u–lrt]kfgL-

k/fh'nLj]zL_ df]6/ af6f]
dWog]kfn g=kf=% ५००००० kfFr nfv

१३७ vfg]kfgL -;f8]vf]nf tyf lrt]kfgL_ 

# / @
dWog]kfn g=kf=% ५००००० kfFr nfv

१३८ af}4 u'Daf dWog]kfn g=kf=% ४००००० rf/ nfv

१३९ If]qL ;dfh u0f]z dlGb/ lgdf{0f dWog]kfn g=kf=% ४००००० rf/ nfv

१४० rf/;o s'nf] lgdf{0f dWog]kfn g=kf=% ३००००० tLg nfv

१४१ du/ ufFp xf]d :6] dWog]kfn g=kf=% ४००००० rf/ nfv

१४२ ahLof vs{ kf]v/L lgdf{0f dWog]kfn g=kf=% ४००००० rf/ nfv

१४३ ejfgL k|f=lj= nfO{ z}lIfs ;'wf/ 

sfo{qmd
dWog]kfn g=kf=% १००००० Ps nfv

१४४ :jfdLe~Hofª\u æ3/ 3/df kmnkm"n 

dg k|km"NNf sfo{qmdÆ
dWog]kfn g=kf=% ४००००० rf/ nfv

१४५ ;Demgf df=lj= 5fqfaf; sfo{qmd dWog]kfn g=kf=% २००००० b'O{ nfv

१४६ dlxnf ;~hfn sfo{qmd dWog]kfn g=kf=% ५०००० krf; xhf/

१४७ s[lif ;8s dd{t dWog]kfn g=kf= % १००००० Ps nfv

१४८ e't dlGb/ b]lv k'/fgf] 6+sL ;Dd 

hfg] af6f] lj:tf/
dWog]kfn g=kf= % १००००० Ps nfv

१४९ s'jf kfgL kwF]/f] dd{t dWog]kfn g=kf= % ७५००० krxQ/ xhf/

१५० alhof ;s{ b]lv ;fpg] kfgL hf]8\g] 

df]6/af6f] lj:tf/
dWog]kfn g=kf= % १५००००

Ps nfv 

krf; 

xhf/

१५१ kfTn] kfgL dd{t df]6/ v/Lb dWog]kfn g=kf= % १००००० Ps nfv

१५२ ejfgL k|f=lj= k|f]h]S6/ v/Lb dWog]kfn g=kf= % १००००० Ps nfv

१५३ :jf:Yo rf}sL Joj:yfkg dWog]kfn g=kf= % ५०००० krf; xhf/
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१५४ k/fh'nLj];L cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf= % १५०००० Ps nfv 

krf; xhf/

१५५ g]jf cfdf ;d"x k'/fgf] xl6of ejg 

lgdf{0f
dWog]kfn g=kf= % १००००० Ps nfv

१५६ ;okqL cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf= % १००००० Ps nfv

१५७ afnsGof cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf= % १००००० Ps nfv

१५८ vs{ cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf= % १००००० Ps nfv

१५९ r'/] 8f8fF ;r]tgf s]Gb| lgdf{0f dWog]kfn g=kf= % १००००० Ps nfv

१६० nfnLu'/fF; d'df ;d"x 6«:6 lgdf{0f dWog]kfn g=kf= % २२५०००
b'O{ nfv 

kRrL; 

xhf/

१६१ lzj kfj{tL dlGb/ dd{t dWog]kfn g=kf= % ५०००० krf; xhf/

१६२ gfu e}/j k"hf Joj:yfkg dWog]kfn g=kf= % ७५००० krxQ/ xhf/

१६३ e'Tof vf]nf dlGb/ lgdf{0f dWog]kfn g=kf= % ५०००० krf; xhf/

१६४ tNnf] s'nf] vs{ dd{t dWog]kfn g=kf= % ५०००० krf; xhf/

१६५ sf]O/fn] s'nf] dd{t dWog]kfn g=kf= % ७५००० krxQ/ xhf/

१६६ cfxfn] s'nf] dd{t dWog]kfn g=kf= % ७५००० krxQ/ xhf/

१६७ 6f/L s'nf] dd{t dWog]kfn g=kf= % ७५००० krxQ/ xhf/

१६८ jfpbL vf]nf t6aGwg dWog]kfn g=kf= % १००००० Ps nfv

१६९ sfofkn6 c;n zf;g Sna 

v]ns'b ;~rfng
dWog]kfn g=kf= % १००००० Ps nfv

१७० k|x/L rf}sL b'O{lkKn] Joj:yfkg dWog]kfn g=kf= % ५०००० krf; xhf/

१७१ zfn 3f6 7fF6L lgdf{0f dWog]kfn g=kf= % १००००० Ps nfv

१७२ vs{ 3'dfpg] rf}/ hfg] df]6/ af6f] 

lgdf{0f
dWog]kfn g=kf= % १००००० Ps nfv

१७३ HofgL vf]nf b]vL ;fu'/f] uNNfL k}bn 

dfu{
dWog]kfn g=kf= % ५०००० krf; xhf/

१७४ w'nk'/ ahf/–kfv'/L rf]s ;8s dWog]kfn g=kf=^ १०००००० bz nfv

१७५ ef]n]{6f/ a;kfs{ dWog]kfn g=kf=^ १५००००० kGw| nfv

१७६ bf]efg 8fF8f–9Ns] cfFk x'b}F k|x/L 

rf}sL df]6/ af6f]
dWog]kfn g=kf=^ ५००००० kfFr nfv

१७७ ;fd'bflos ejg – wf]b|] x'b}F 

k'/fgl8xL df]6/ af6f]
dWog]kfn g=kf=^ ५००००० kfFr nfv

१७८ a[4fcf>d lgdf{0f dWog]kfn g=kf=^ ३००००० tLg nfv

१७९ af}4 u'Daf ejg dd{t dWog]kfn g=kf=^ ५००००० kfFr nfv

१८० ;fd'bflos k':tsfno dWog]kfn g=kf=^ ४००००० rf/ nfv

१८१ sfp/] sflnsf dlGb/ lgdf{0f dWog]kfn g=kf=^ ३००००० tLg nfv

१८२ wf]b|] cfdf ;d"x ejg t6aGwg dWog]kfn g=kf=^ ३००००० tLg nfv

१८३ ebf}/] vf]nf vfg]kfgL dWog]kfn g=kf=^ ३००००० tLg nfv

१८४ /fgLkfgL cfdf ;d"x dWog]kfn g=kf=^ २००००० b'O{ nfv

१८५ gf/fo0fL cfdf ;d"x dWog]kfn g=kf=^ २००००० b'O{ nfv

१८६ s6'0h] vfg]kfgL dWog]kfn g=kf=^ १००००० Ps nfv

१८७ yk'{ s'nf] lgdf{0f dWog]kfn g=kf=^ २००००० b'O{ nfv

१८८ lk:tL vf]nf–;fsL{ ufFp df]6/ af6f] dWog]kfn g=kf=^ २००००० b'O{ nfv
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cIf/df

१८९ :ofgL :jfF/f df]6/ af6f] dWog]kfn g=kf=^ ३००००० tLg nfv

१९० lxdfnL af]l8ª\u x'b}F ldlbd s[lif 

kmd{;Dd ;8s
dWog]kfn g=kf=^ ३००००० tLg nfv

१९१ O{zfg]Zj/ SofDk; z}rfno lgdf{0f dWog]kfn g=kf=^ ३००००० tLg nfv

१९२ O{zfg]Zj/ df=lj= sDkfp08 dWog]kfn g=kf=^ ३००००० tLg nfv

१९३ /fddl0f e§/fO{ k|ltIffno dWog]kfn g=kf=^ १००००० Ps nfv

१९४ u'Daf–csnf dlGb/ ;8s dWog]kfn g=kf=^ ३००००० tLg nfv

१९५ wf]b|] – ef]n]{ ;8s dWog]kfn g=kf=^ ३००००० tLg nfv

१९६ sfp/] vfg]kfgL dWog]kfn g=kf=^ २००००० b'O{ nfv

१९७ ef]n]6f/ :s"n–/fgLdf]6/ af6f] dWog]kfn g=kf=^ २००००० b'O{ nfv

१९८ s6'jf s'nf] dd{t dWog]kfn g=kf=^ ५०००० krf; xhf/

१९९ ;lxb rf]s xl:k6n O{hf/ df]6/af6f] dWog]kfn g=kf= ^ २००००० b'O{ nfv

२०० zlxb rf]s eO{dfn x'bF} Jof; dfu{ 

hf]8\g] df]6/af6f]
dWog]kfn g=kf= ^ २००००० b'O{ nfv

२०१ lkKn] vf]N;L df]6/af6f] dWog]kfn g=kf= ^ १५०००० Ps nfv 

krf; xhf/

२०२ eO{dfn 5f]6L lj8L x'b} cfdL{ SofDk 

;Ddsf] af6f]
dWog]kfn g=kf= ^ ५०००० krf; xhf/

२०३ u'Daf 6f]n df]6/af6f] dWog]kfn g=kf= ^ ५०००० krf; xhf/

२०४ km]bL rf}tf/faf6 k'/fgfl8xL ;Ddsf] 

df]6/af6f]
dWog]kfn g=kf= ^ १००००० Ps nfv

२०५ 9f8sf] v]taf6 nfdf;f]tL ;Ddsf] 

df]6/af6f]
dWog]kfn g=kf= ^ १००००० Ps nfv

२०६ rf/;o rf}tf/faf6 u|Lg EofnL 

hf]8\g] df]6/af6f]
dWog]kfn g=kf= ^ ५०००० krf; xhf/

२०७ l;DkfgL rf}tf/faf6 hut]sf] 3/ x'b} 

u0f]zsf] 3/ dfly hfg] df]6/af6f]
dWog]kfn g=kf= ^ १००००० Ps nfv

२०८ wf]b|LufFp hfg] df]6/af6f] dWog]kfn g=kf= ^ १५०००० Ps nfv 

krf; xhf/

२०९ dl0fufpF df]6/af6f] dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१० xl:k6n x'b}F k'/fgf] uNnL x'b}F 

gjHof]tL ejg df]6/af6f]
dWog]kfn g=kf= ^ १००००० Ps nfv

२११ g'/ k|;fbsf] 3/ x'b}F k'/fgf] wf/f 

;Dd hfg] df]6/af6f]
dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१२ ldng 6f]n nId0fsf] 3/af6 emg]{ 

af6f] u|fj]n
dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१३ ljhoj:tL leqL af6f] dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१४ l;DkfgL yfkfufpF hfg] df]6/af6f] 

dd{t
dWog]kfn g=kf= ^ १००००० Ps nfv
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२१५ s:ofg O{hf/ dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१६ wgb]jL 8f8fFufpF sflnsf yfg 

df]6/af6f]
dWog]kfn g=kf= ^ १००००० Ps nfv

२१७ l8xL vfg]kfgL dWog]kfn g=kf= ^ ५०००० krf; xhf/

२१८ dlxnf pBdL tflnd dWog]kfn g=kf= ^ १००००० Ps nfv

२१९ blnt nlIft tflnd dWog]kfn g=kf= ^ १००००० Ps nfv

२२० 89'jf b'5f{ ;dfh ejg lgdf{0f 

ef]n]{6f/
dWog]kfn g=kf= ^ १००००० Ps nfv

२२१ l;4 k|f=lj= u]6 lgdf{0f dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२२ hgsNof0f k|f=lj= dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२३ Hjfnf k|f=lj= vfg]kfgL sfo{qmd dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२४ l;DkfgL vfg]kfgL dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२५ csnfb]jL kf6L lgdf{0f dWog]kfn g=kf= ^ १५०००० Ps nfv 

krf; xhf/

२२६ ljhoj:tL dGbL/ lgdf{0f dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२७ dlxnf elnan sfo{qmd dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२८ ul/a tyf c;xfo 5fq 5fqf 

kf];fs ljt/0f
dWog]kfn g=kf= ^ ५०००० krf; xhf/

२२९ pBf]u jfl0fHo ejg ef]n]{6f/ dWog]kfn g=kf= ^ २००००० b'\\O\{ nfv

२३० vfg]kfgL Plss[t of]hgf dWog]kfn g=kf= & ५००००० kfFr nfv

२३१ k+w]/fy/ k+w]/f] lgdf{0f dWog]kfn g=kf= & २००००० b'O{ nfv

२३२ ;fsL{ ufFp ef]6] vf]l/of df]= af6f] dWog]kfn g=kf= & २००००० b'O{ nfv

२३३ ef6 a]zL r/fkfgL df]6/ af6f] dWog]kfn g=kf= & २००००० b'O{ nfv

२३४ r/fkfgL rl08:yfg d}bfg b'/fyf]s 

df]6/ af6f]
dWog]kfn g=kf= & ३००००० tLg nfv

२३५ kw]+/fy/ rl/kfgL wfh]{ vf]nf df]6/ 

af6f]
dWog]kfn g=kf= & २००००० b'O{ nfv

२३६ ;Tofb]jL cfdf :fd"x ejg lgdf{0f dWog]kfn g=kf= & २००००० b'O{ nfv

२३७ s/fk' td" ;dfh dWog]kfn g=kf= & २००००० b'O{ nfv
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२३८ ;fsL{ ;dfh 3/ lgdf{0f dWog]kfn g=kf= & २००००० b'O{ nfv

२३९ :jf:Yo tyf ;/;kmfO{ sfo{qmd dWog]kfn g=kf= & ३००००० tLg nfv

२४० /fdahf/ v]nd}bfg lgdf{0f dWog]kfn g=kf=& १५००००० kGw| nfv

२४१ /fd u'?s'n cf>d dWog]kfn g=kf=& ७००००० ;ft nfv

२४२ !)* wf/f lgdf{0f dWog]kfn g=kf=& ३००००० tLg nfv

२४३ 7"nf] 9'ª\uf d'lQ{ lgdf{0f dWog]kfn g=kf=& ४००००० rf/ nfv

२४४ nIdL ahf/ ;+/If0f sfo{qmd dWog]kfn g=kf=& ३००००० tLg nfv

२४५ /fdahf/–ss{n]-df]xg l;+x_ dfu{ dWog]kfn g=kf=& ३००००० tLg nfv

२४६ /fDr]vf]nf–ls/fsf] vf]/ -s]bf/ dfu{_ dWog]kfn g=kf=& ४००००० rf/ nfv

२४७ nIdL ahf/ e~Hofª\u df]6/ af6f] dWog]kfn g=kf=& ३००००० tLg nfv

२४८ nIdLahf/ ;fd'bflos ejg tyf 

vf]k s]Gb| lgdf{0f
dWog]kfn g=kf=& ३८०००० tLg nfv 

c;L xhf/

२४९ zfSo d'lg tfdfª ;dfh ejg dWog]kfn g=kf=& ३००००० tLg nfv

२५० blnt ;dfh ;'wf/ ejg dWog]kfn g=kf=& ३००००० tLg nfv

२५१ l;tL vf]nf s'nf] lgdf{0f dWog]kfn g=kf=& २००००० b'O{ nfv

२५२ kGRf a'4 td' ;dfh ejg lgdf{0f dWog]kfn g=kf=& २००००० b'O{ nfv

२५३ kf]v|]nkmfF6 l;+rfO{ of]hgf dWog]kfn g=kf=& २००००० b'O{ nfv

२५४ eGHofª\u cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf=& १००००० Ps nfv

२५५ wf/h'ª\u]–s6/af]6] l;+rfO{ cfof]hgf dWog]kfn g=kf=& १००००० Ps nfv

२५६ lr;fkfgL–/ftdf6f–wf/h'ª\u] vf]nf 

df]6/af6f]
dWog]kfn g=kf=& १००००० Ps nfv

२५७ sf:sL–ndh'ª l;dfgfdf :jfut4f/ 

lgdf{0f /fdahf/
dWog]kfn g=kf=& ४००००० rf/ nfv

२५८ lzj/fqL d]nf ;+/If0f tyf v]ns"b 

Joj:yfkg
dWog]kfn g=kf=& २००००० b'O{ nfv

२५९ j]n8fF8f v]nd}bfg lgdf{0f dWog]kfn g=kf=& २००००० b'O{ nfv

२६० s';'dfs/ df=lj= vfg]kfgL 6\ofª\sL 

tyf /]lnª\u /ª /f]sg
dWog]kfn g=kf=& ४००००० rf/ nfv

२६१ dflnsf cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf=& १००००० Ps nfv

२६२ rGb|Hof]tL cfdf ;d"x dWog]kfn g=kf=& १००००० Ps nfv

२६३ o'jf :j/f]huf/ sfo{qmd dWog]kfn g=kf=& ३००००० tLg nfv

२६४ :sf]g s[i0f dlGb/ -u]6 lgdf{0f_ dWog]kfn g=kf=& १००००० Ps nfv

२६५ ljhorf]s gfNdfkm]bL df]6/af6f] dWog]kfn g=kf=* १०००००० bz nfv

२६६ dh'jf l;+rfO{ cfof]hgf dWog]kfn g=kf=* ३००००० tLg nfv

२६७ s/fk' Eo" 6fj/ lgdf{0f dWog]kfn g=kf=* ७००००० ;ft nfv

२६८ nfdfufFp u'Daf lgdf{0f dWog]kfn g=kf=* ५००००० kfFr nfv

२६९ 89'jf gd'gf ufFp dWog]kfn g=kf=* १०००००० bz nfv

२७० lbJoHof]tL cfdf ;d"x ejg lgdf{0f dWog]kfn g=kf=* ५००००० kfFr nfv

२७१ s/fk' xf]d :6] dWog]kfn g=kf=* ५००००० kfFr nfv

२७२ kt]/L cfdf ;d"x zf}rfno tyf 

vfg]kfgL lgdf{0f
dWog]kfn g=kf=* ३००००० tLg nfv

२७३ ls/0f ;fd'bflos ejg dd{t dWog]kfn g=kf=* १००००० Ps nfv
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२७४ a]TofgL e'd] k|f=lj hfg] df]6/af6f] dWog]kfn g=kf=* १००००० Ps nfv

२७५ sNofª–s/fk' df]6/af6f] dWog]kfn g=kf=* ३००००० tLg nfv

२७६ ;[hglzn cfdf ;d'x dWog]kfn g=kf=* १००००० Ps nfv

२७७ 89'jf vfg]kfgL d'xfg ;+/If0f dWog]kfn g=kf=* १००००० Ps nfv

२७८ 89'jf o'jf /f]huf/ sfo{qmd dWog]kfn g=kf=* २००००० b'O{ nfv

२७९ cn}rL v]tL sfo{qmd dWog]kfn g=kf=* २००००० b'O{ nfv

२८० xa{n pBf]u :yfkgf dWog]kfn g=kf=* १००००० Ps nfv

२८१ s/fk' a]zLvf]nf t6aGwg dWog]kfn g=kf=* २००००० b'O{ nfv

२८२ rf}tf/L o"jf Sna v]ns'b d}bfg 

lgdf{0f
dWog]kfn g=kf= * ४००००० rf/ nfv

२८३ hgsNof0f k|f=lj= sNofªa];L 

sDkfp08
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२८४ ;KtsGof k|f=lj= ds'6] sDkfp08 

lgdf{0f
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२८५ es'08] cfdf ;d"x dWog]kfn g=kf= * १००००० Ps nfv

२८६ nfdfufFp u'Daf lgdf{0f dWog]kfn g=kf= * १००००० Ps nfv

२८७ s'jfkfgL afF:sf]6 ;dfh ejg 

lgdf{0f
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२८८ s'jfkfgL kfgL tfGg] df]6/ vl/b dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२८९ :jf:Yo rf}sL ejg kmlg{r/ Pj+ 

pks/0f vl/b
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९० b'5f{ ;8s lgdf{0f dWog]kfn g=kf= * १००००० Ps nfv

२९१ 7"n:jfF/f ;fd'bflos ejg lgdf{0f dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९२ cfn8fF8f ufFpsf] uf]/]6f] af6f]      -

l;9L+_ lgdf{0f
dWog]kfn g=kf= * १००००० Ps nfv

२९३ kt]/L vfg]kfgL dd{t ;'wf/ dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९४ lqmol6e o"jf Sna v]n d}bfg dWog]kfn g=kf= * १००००० Ps nfv

२९५ 89'jf b'5f{ df=lj= d~r lgdf{0f dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९६ sNofªj]zL blnt ;fd'bflos ejg 

lgdf{0f
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९७ ?bL gx/ dd{t dWog]kfn g=kf= * १००००० Ps nfv

२९८ >L tLy{ kreo td'Ko] ;ldlt ejg 

-sf]O{jf 3/_
dWog]kfn g=kf= * १५०००० Ps nfv 

krf; xhf/

२९९ ef]n]{6f/–afª\u|]a]zL df]6/af6f] dWog]kfn g=kf=( ३२००००० alt; nfv

३०० ;fn8fF8f df]6/af6f] dWog]kfn g=kf=( ४००००० rf/ nfv

३०१ ebf}/] b'/fufFp gd'gf ljsf; sfo{qmd dWog]kfn g=kf=( ५००००० kfFr nfv

३०२ ufpF afª\u|] vns v]n d}bfg dWog]kfn g=kf=( २००००० b'O{ nfv

३०३ s'jF/ P]ltxfl;s dlGb/ ;+/If0f dWog]kfn g=kf=( ३००००० tLg nfv

३०४ lk:tL vf]nf–rfd]8fF8f df]6/af6f] dWog]kfn g=kf=( ३००००० tLg nfv

३०५ k'/f08LxL–l;/fgrf]s df]6/af6f] dWog]kfn g=kf=( ४००००० rf/ nfv

३०६ >L sNof0f df=lj sDkfp08 dWog]kfn g=kf=( ४००००० rf/ nfv

३०७ v'8]–6f/L l;+rfO{ of]hgf dWog]kfn g=kf=( ५००००० kfFr nfv

३०८ rgf}6]–6f/L df]6/af6f] dWog]kfn g=kf=( १००००० Ps nfv
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३०९ gfusf] yfg–sfdLufpF uf]/]6f] af6f] 

tyf rf}tf/f] lgdf{0f
dWog]kfn g=kf=( २००००० b'O{ nfv

३१० rqmjtL{ cfdf ;d'x–em/L vns 

cfdf ;d'x /f]huf/ sfo{qmd
dWog]kfn g=kf=( ५००००० kfFr nfv

३११ ebf}/] ufpF df]6/af6f] dWog]kfn g=kf=( ३००००० tLg nfv

३१२ lrxfg 8f8fFdf kf6L lgdf{0f        -

afª\u|]a]zL_
dWog]kfn g=kf=( २००००० b'O{ nfv

३१३ b]p/fnL cfdf ;d'x ejg dd{t dWog]kfn g=kf=( २००००० b'O{ nfv

३१४ nuglzn cfdf ;d'x ;fdfg vl/b dWog]kfn g=kf=( २००००० b'O{ nfv

३१५ 3\ofp;Laf;–dflnsf kbdfu{ dWog]kfn g=kf=( १००००० Ps nfv

३१६ ;fn8f8fF ;fd'bflos agdf cd|L;f] 

tyf a[Iff/f]k0f sfo{qmd
dWog]kfn g=kf=( २००००० b'O{ nfv

३१७ rgf}6] cfdf ;d'x ejg dd{t dWog]kfn g=kf=( १००००० Ps nfv

३१८ 9f8sf] s'nf] dd{t dWog]kfn g=kf=( १००००० Ps nfv

३१९ hutHof]tL cfdf ;d'x ejg dd{t -

ebf}/]_
dWog]kfn g=kf=( २००००० b'O{ nfv

३२० afnHof]tL df=lj sDkfp08 dWog]kfn g=kf=( २००००० b'O{ nfv

३२१ eft]vf]nf–ebf}/] s'nf] lgdf{0f dWog]kfn g=kf=( १००००० Ps nfv

३२२ ;+:yfut ljsf; / ;]jf k|jfx dWog]kfn g=kf= ( २००००० b'O{ nfv

३२३ :jf:Yo rf}sL aly{ª ;]G6/nfO{ 

;fdfg vl/b
dWog]kfn g=kf= ( १००००० Ps nfv

३२४ sf]naf]6] wf/f tyf kf]v/L ;+/If0fsf] 

nflu kf]v/L tyf wf/f lgdf{0f
dWog]kfn g=kf= ( ३००००० tLg nfv

३२५ l;/fgrf]s lrxfg 8fF8fdf 7fF6L 

lgdf{0f
dWog]kfn g=kf= ( १५०००० Ps nfv 

krf; xhf/

३२६ 5q]9'ª\uf lrxfg 8fF8fdf 7fF6L lgdf{0f dWog]kfn g=kf= ( १५०००० Ps nfv 

krf; xhf/

३२७ ebf}/]df lrxfg 7fF6L lgdf{0f dWog]kfn g=kf= ( १५०००० Ps nfv 

krf; xhf/

३२८
uf}8fd'v j8f/]sf] rf}tf/f x'b}F 

8fF8frf}tf/f;Dd 7f8f] af6f] l;+9L 

dd{t

dWog]kfn g=kf= ( १००००० Ps nfv

३२९ gf}lj;]sf] s'nf] dd{t dWog]kfn g=kf= ( १००००० Ps nfv

३३० rfokfgL s'nf] dd{t tyf lgdf{0f dWog]kfn g=kf= ( १००००० Ps nfv

३३१ kfTn]kfgL WofFp;L jf; zfvf df]6/ 

af6f] lgdf{0f tyf dd{t
dWog]kfn g=kf= ( १००००० Ps nfv

३३२ rgf}6] s'nf] dd{t tyf lgdf{0f dWog]kfn g=kf= ( १५०००० Ps nfv 

krf; xhf/

३३३ dlxnf pTyfg tyf dlxnf ;DaGwL 

sfo{qmd ;~rfng
dWog]kfn g=kf= ( १००००० Ps nfv

३३४ blnt pTyfg tyf ljsf; ;DaGwL 

sfo{qmd
dWog]kfn g=kf= ( १००००० Ps nfv

३३५ vns 5fk cfdf ;d"xsf] ejg 

dd{t tyf lgdf{0f
dWog]kfn g=kf= ( ५००००० kfFr nfv

३३६ hut Hof]lt cfdf ;d"x 

a]lzafª\u\]nfO{ ;fdfg vl/b
dWog]kfn g=kf= ( ५०००० krf; xhf/
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३३७ df;kfgL afFu|] x'b}F p8\ofg ;Dd 

zfvf df]6/ af6f] lgdf{0f
dWog]kfn g=kf= ( १००००० Ps nfv

३३८ ;fljs ^ g+ sf] cfdf;d"x ejgdf 

6«:6 xfNg
dWog]kfn g=kf= ( १००००० Ps nfv

३३९ afn ljsf; s]Gb| a]zLafFu|]nfO{ 

;fdfg vl/b
dWog]kfn g=kf= ( २०००० aL; xhf/

३४० lzjuf}/L cfdf ;d"xnfO{ ;fdfg 

vl/b
dWog]kfn g=kf= ( १००००० Ps nfv

३४१ yfgl;Ë :jfF/f–j8f sfof{no;Ddsf] 

df]6/af6f]
dWog]kfn g=kf=!) १५००००० kGw| nfv

३४२ lgzfgrf}tf/faf6 xfl8vf]nf–a/bfg 

df]6/af6f]
dWog]kfn g=kf=!) ८००००० cf7 nfv

३४३ Dofpvf]nf–vdf/Laf]6–lgzfg 

rf}tf/f df]6/af6f]
dWog]kfn g=kf=!) ५००००० kfFr nfv

३४४ /]8f] u'Daf lgdf{0f-;fgf] kf]v/L_ dWog]kfn g=kf=!) ५००००० kfFr nfv

३४५ b]p axfb'/ b'/f dfu{ dWog]kfn g=kf=!) १०००००० bz nfv

३४६ b]p axfb'/ gd'gf ufpF tyf :d[tL 

ejg 
dWog]kfn g=kf=!) ८००००० cf7 nfv

३४७ dlxnf l;k ljsf; sfo{qmd dWog]kfn g=kf=!) ४००००० rf/ nfv

३४८ lj=lk kfs{ lgdf{0f dWog]kfn g=kf=!) ५००००० kfFr nfv

३४९ sNrf}8] vf]nf l;+rfO{ cfof]hgf dWog]kfn g=kf=!) १००००० Ps nfv

३५० lald/] e~HofË–nfdfufpF df]6/af6f] dWog]kfn g=kf=!) १००००० Ps nfv

३५१ blnt gd'gf ufpF dWog]kfn g=kf=!) ५००००० kfFr nfv

३५२ u'7f v]t l;+rfO{ dWog]kfn g=kf=!) १००००० Ps nfv

३५३ xfl8vf]nf v]n d}bfg dWog]kfn g=kf=!) २००००० b'O{ nfv

३५४ ;Dk"0f{ af6f] dd{t dWog]kfn g=kf=!) ४००००० rf/ nfv

३५५ g]6f u0f]z dlGb/ dd{t of]hgf dWog]kfn g=kf= !) १००००० Ps nfv

३५६ df]6/ af6f]x? dd{t ;+xf/ of]hgf dWog]kfn g=kf= !) ४००००० rf/ nfv

३५७ Ifdtf clej[l4 tflnd Pj+ sfo{qmd 

;+rfng of]hgf
dWog]kfn g=kf= !) २००००० b'O{ nfv

३५८ dflnsf lnl6n :6f/ v]n d}bfg 

lgdf{0f of]hgf
dWog]kfn g=kf= !) ३००००० tLg nfv

३५९ u§/] kf]v/L o'jf Sna ejg lgdf{0f 

of]hgf
dWog]kfn g=kf= !) ३००००० tLg nfv

३६० zf/bf ;bg k|f=lj= v]n d}bfg 

lgdf{0f 
dWog]kfn g=kf= !) ३००००० tLg nfv

३६१ j8f leq /x]sf kw]F/fx? ;+/If0f Pj+ 

dd{t
dWog]kfn g=kf= !) २००००० b'O{ nfv

३६२ vfg]kfgL kfOk vl/b Pj+ 6\ofÍL 

dd{t of]hgf
dWog]kfn g=kf= !) २००००० b'O{ nfv

३६३ xfF8Lvf]nf kf6L lgdf{0f of]hgf dWog]kfn g=kf= !) १००००० Ps nfv
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३६४ j8f sfof{no 9f]sf Pj+ cfdf ;d"x 

/ Snax?nfO{ kmlg{r/ vl/b of]hgf
dWog]kfn g=kf= !) २००००० b'O{ nfv

३६५ u0f]z dlGb/ u'Daf hfg] kbdfu{ 

lgdf{0f of]hgf
dWog]kfn g=kf= !) २००००० b'O{ nfv

३६६ gu/ k|d'v Jofj;foLs s[lif 

cfw'lgsLs/0f sfo{qmd
gu/ :t/Lo sfo{qmd ६०००००० ;f7L nfv

३६७ gu/ k|d''v dlxnf :j–/f]huf/ 

sfo{qmd
gu/ :t/Lo sfo{qmd ३०००००० lt; nfv

३६८ gu/ k|d'v o'jf :j–/f]huf/ sfo{qmd gu/ :t/Lo sfo{qmd ३०००००० lt; nfv

३६९ gu/ k|d'v cfsl:ds sf]if gu/ :t/Lo sfo{qmd ५०००००० krf; nfv

३७० blnt ljsf; sf]if gu/ :t/Lo sfo{qmd १०००००० bz nfv

३७१ cf}ifwL vl/b sfo{qmd gu/ :t/Lo sfo{qmd २५००००० klRr; nfv

३७२ wfld{s ljsf; kl/of]hgf gu/ :t/Lo sfo{qmd २०००००० aL; nfv

३७३ v/sf] 5fgf] d'Qm gu/kflnsf 

sfo{qmd
gu/ :t/Lo sfo{qmd ५००००० kfFr nfv

३७४ wfdL{s dxf]T;j d]nf gu/ :t/Lo sfo{qmd १५००००० kGw| nfv

३७५ k|:tfljt z}lIfs ljsf; cg'bfg 

sfo{qmd
gu/ :t/Lo sfo{qmd १०००००० bz nfv

३७६ gu/ gd'gf ljBfno sfo{qmd gu/ :t/Lo sfo{qmd १०००००० bz nfv

३७७ kmf]xf]/ d}nf Joj:yfkg gu/ :t/Lo sfo{qmd ८००००० cf7 nfv

३७८ ±@ -!)±@_ k9\b} u/]sf ljBfyL{ 

Jofj;flos tflnd sfo{qmd
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३७९ Ho]i7 gful/s 3/b}nf] :jf:Yo 

pkrf/ sfo{qmd
gu/ :t/Lo sfo{qmd १०००००० bz nfv

३८० lzIfs tflnd -cfO{=l;=6L_ tflnd gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३८१ Kofyf]nf]hL ;]jf gu/ :t/Lo sfo{qmd ४००००० rf/ nfv

३८२ ;''Ts]/L j]8 vl/b sfo{qmd gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३८३ afn ljsf; sf]if gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३८४ l;=l; l6=le h8fg sfo{qmd gu/ :t/Lo sfo{qmd ४००००० rf/ nfv

३८५ k|x/L rf}sL k|ltIffno lgdf{0f gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३८६ nfu' cf}ifw, dlxnf lx+;f, 

afnaflnsf r]tgf clea[l4 sfo{qmd
gu/ :t/Lo sfo{qmd १००००० Ps nfv

३८७ gu/ k|d'v 5fqfa[lQ sf]if gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३८८ æxfd|f afnaflnsf xfd|f] eljioÆ 

r]tgf / ;+/If0f sfo{qmd
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३८९ gu/ k|d'v km'6jn / elnan 

sfo{qmd
gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३९० blnt hghftL cNk;+Vos dlxnf 

l;kd'ns sfo{qmd
gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३९१ lzIfs–lzlIfsf ;Ddfg sfo{qmd gu/ :t/Lo sfo{qmd १००००० Ps nfv

३९२ gu/ k|d'v ljkb\ Joj:yfkg 

sfo{qmd
gu/ :t/Lo sfo{qmd १०००००० bz nfv



C0f
hg;xeflut

f

>f]t

qm=

;+=
sfo{qmd÷cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]hg ?= cfGtl/s 

>f]t

cGt/;/sf/L ljlQo 

x:tfGt/0f

g]kfn ;/sf/ k|b]z ;/sf/

cIf/df

३९३ zfl//Ls lasnfË-ckfË_ e/f];f 

sfo{qmd
gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३९४ dlxnf :jf:Yo :jod\;]jLsf 

k|f]T;fxg sfo{qmd
gu/ :t/Lo sfo{qmd ५००००० kfFr nfv

३९५ ul/a tyf c;xfo 5fq 5fqfnfO{ 

gu/ k|d'v kf];fs ljt/0f sfo{qmd
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३९६ gu/kflnsfsf ljsf; ultljlwnfO{ 

;fj{hlgs ;'gjfO{ sfo{qmd
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३९७ nf]s ;]jf cfof]usf] tof/L sIf 

;+rfng
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

३९८ d'l:nd pTyfg sfo{qmd gu/ :t/Lo sfo{qmd ३००००० tLg nfv

३९९ ;flxTo, wd{, ;+:s[tL ;+/If0f 

sfo{qmd
gu/ :t/Lo sfo{qmd २००००० b'O{ nfv

कुऱ जम्मा !#@^%))))

ef]n]{^f/, ndh"ª

4 g+ k|b]z, g]kfn

k|:t"tstf{ M

uug l#ld/]

j*f cWoIf tyf gu/ sfo{kflnsf k|jStf

dWog]kfn gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
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